
 

 

 

 

 

 

INDIAN SCHOOL MUSCAT 

PRIMARY SECTION 

MID TERM EXAMINATION 

SUBJECT: MATHEMATICS     NAME: 

SEN PAPER CLASS:   III             SEC: 

TEACHER’S SIGNATURE & DATE: ROLL NO: DATE:    

I. 

 

Fill in the blanks .                                                                                      ( 5 Marks ) 

 

a. 

 

The place value of 8 in 8127 is ___________________. 

 

i. 800                              ii.        80                            iii.         8000 

 

b. 

 

The successor of 99 is  ______________________. 

 

i. 100                              ii.    1000                            iii.            98 

 

c. 

 

5020 – 5020 = ______________. 

 

i.     1                              ii.          0                            iii.       5020 

 

d. 

 

350 x 2 = 2 x  _______________. 

 

i. 350                              ii.          2                            iii.            0 

 

e. 

 

8 x 5 = ________________. 

 

i. 45                                ii.        40                            iii.          60 
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III. Subtract.                                                                                                               ( 4 Marks )                    

a. 3826   from  5978 

 

b.  3902   from   5907 

 

 

II. 
 

 

Do as directed.                                                                                          ( 3 Marks ) 
 

a. 

Give the place value of  the underlined digit . 

 

 

2867    - ____________________________ 
 

 

b. 

Arrange  the  given numbers  in descending order. 

 

6185   ,    7785   ,    8910 ,     5585 

 

_______________________________________________________ ___ 
 

c. 

Arrange  the given numbers  in ascending order. 

 

319    ,   391   ,     338    ,     383 

 

__________________________________________________________ 
 

 

 

 

 

 

 

 

 

 

 



 

 

IV. Multiply.                                                                                                                (4 Marks) 

 

a.  235  x   4                       

 

b.   1345   x  7                    

 

V.  Solve the given word problems.                                                                          (4 Marks) 

 

1. The population of a village is 983. Out of this 473 are women. How many men are 

there in the village? 

 

__________________________________________________ 

__________________________________________________ 

__________________________________________________ 

__________________________________________________ 

__________________________________________________ 

 

 

 

 

 

 

 

 

 

 

 

    

    

    

    

    



 

 

2. The Std. 3 mathematics book has 112 pages. Find the number of pages in 3 such 

books. 

 

__________________________________________________ 

__________________________________________________ 

__________________________________________________ 

__________________________________________________ 

__________________________________________________ 

__________________________________________________ 
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